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Find	
  the	
  components	
  of	
  v	
  having	
  	
  
|v	
  |	
  =	
  14.5	
  and	
  θ	
  =	
  220°	
  



Find	
  the	
  horizontal	
  component	
  
|v	
  |	
  =	
  14.5	
  and	
  θ	
  =	
  220°	
  

•  The	
  horizontal	
  component	
  is	
  the	
  x	
  component	
  
which	
  is	
  given	
  by	
   	
  a	
  =	
  |v|	
  cos	
  θ	
  

a	
  =	
  14.5	
  cos	
  220°	
  ≈	
  -­‐11.1	
  



Find	
  the	
  verJcal	
  component	
  
|v	
  |	
  =	
  14.5	
  and	
  θ	
  =	
  220°	
  

• 	
   The	
  verJcal	
  component	
  is	
  the	
  y	
  component	
  
which	
  is	
  given	
  by	
   	
  b	
  =	
  |v|	
  sin	
  θ	
  

b	
  =	
  14.5	
  sin	
  220°	
  ≈	
  -­‐9.3	
  



Thus,	
  v	
  is	
  

	
  
	
  
	
  

v	
  =	
  <	
  -­‐11.1,	
  -­‐9.3>	
  


